THMIFEF2RA V3 —1y bV EZE—T 7 — FRE

MReTHEL LK TXILAEOEARVFHEEDL V54 Uik
MEELR] TEEHRY—EXFREE] 12D T
B11-—3
f8 1 1—3%%’5%)\(,\
N=48
il EEH EETES EEH EETES
1. @y 29 60. 3% .
2. BEUREY 15 37 3% &) 44 91. 6%
3. POBEHTHL 2 4. 2% . .
4. @myIchEN 2 T 0% BEETHL 4 8. 4%
EY)] . [BETHREY] O&:H191.6% %5 hHH, [PrEYTAWL] . [BYThEWL] O&EH384%

WS HERTL,

3. PRETTAL

4. BYITHL

o
B %S

T4 A1 EES gk EXES
20 28 48
1. @yl 10[ 50.0% 19] 67.9% 29] 60. 3%
2. BbiEd 9 45.0% 6 21.4% 15] 31.3%
3. POBUTHL 0] 0.0% 20 7.1% 21 4.2%
4. @Y THL 1] 5.0% 11 3.6% 21 4.2%

BB ma n2tk

1.
2. BBTREY

0.0% 10.0% 20.0%

40.0%

50.0% 60.0%
[EIELL

70.0%

80.0% 90.0%

100.0%

2-95



EI&% - hE
1 0mrm]| 20 | 30K | 40mK [ 50K | 60 [ 70mUE
0 2 8 17 10 5 6
1. @y 0[0.0%] 1]50.0%] 4]50.0%] 11|64 7% 6]60.0%] 4]80.0%] 3]50.0%
2. BHTHaEY 0]0.0%] 1/50.0%] 3|37.5%| 6|35 3% 1]10.0%] 1]20.0%] 3]50.0%
3. VOBEITHL 0[0.0%| 0[0.0% 1[12.5% 0] 0.0% 1[10.0%] 0]0.0% 0] 0.0%
4. BYTHL 0[0.0%] 0/0.0% 0[0.0%] 0[0.0% 2[20.0%4] 0]0.0% 0] 0.0%
W20 R w20 Y m30RA w40t msoRRft meoRkft w70 b
1.
2. BEGREY
3. eRETTARN
4. @YITHRWL
0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0% 100.0%
E&Lt

2-96




